1.“Brain Drain’ is a consequences of ?
a.Political instability

b.Poor quality of life

c.Limited access to health care
d.Shortage of economic opportunity
e.All of the above

2. Which pattern of emigration can be identified in the post-independence?

a.The emigration of Anglo-Indians to Australia and England

b.The emigration of professionals to the industrially advanced countries like the USA, England
and Canada

c.The emigration of skilled and unskilled labourers to West Asia

d.All of the above

e.Non of them

3. Opponents of current U.S. immigration policy argue that

a.Immigrants reduce wages of American unskilled workers.

b.Immigrants use social services that could be reserved for non-immigrants
c.The taxes that immigrants pay in the U.S. are smaller than the benefits they get.
d.Immigrants should be restricted to those with high skills and high wealth

e.All of the above.



